A F =4k ch ks ITEFF = TE
M7EE EHPER 4881T7EFELETREXFE
g | & T = TREL | wE] B | @ T = TREL | EE
1| X | 16 | 7k |6hBtEts)l|5eE 16:00 O
3 ELAERHEBRREEQ
2| X T ez evas) o1
3 | & X | 18 | & [[REHM&EZ(PM:14E 5F) 16:10 O
4 | & |EBEEN(8:30-9:30) 9:45 O\119]| £+ mENrAES /\
5 | & A 20| B NAHERAEFHE A
P T AMA(9:40
6 | A A 21| B A= (9:40 15:45 x
3hiZ/NFS. 6hiEd
7 | B |[88E3H(8:30-9:30) 9:45 O | 22 | X |BR&E 16:10 O
=R-EH(8:30-9:30) H2E9:45
8 | |” o ; O | 23 | 7 16:10 O
95 3 A A BAERI0:00 | #3411:30 ’
1411:40 SEER - B L
9 | 7k |AFE - pa%ER x | 24 12:10 x
AT R 2.3411:15 O R TN
3EFE - wER L
10 | A& 12:00 Ol 4 16:10 O
BB E (14:00-15:30) -
AR RA
11l |7 16:10 O |26 | & A
SHITE
12 | £ |MBamEERAS Al271 8 A
13| B MamEMASFIHEH A |28 | B |BEO=FR K 13:30 X
BT 2 14£15:15
14| B RS + < |29 | & A
1.2 FIEESHBED 2341550
3 ELERHEERRAED
15 | & |12 st Hna 15:50 O | 30| & |BEo=ZERHKS 13:30 X
6hE52
4 BESEB TS T FZ - - -17:30 O-EHER] X --EHEATR] AERBICE B
(5 BoOEHITE)
1H (K) . 2H (&) Ho=&58%S 218 (k) EE2Fz2 (18)
7H (k) %EB% 228 (K) . 238 (&) HEFX b
9 (%) @ElS [JE=) 248 (1) EESHSE (53 ARER)
148 Gk &EgZ (145) 268 (B) f&tkE
158 (K) WEHEZ (14) 278 (k) . 288 (k) . 308 (&) FeEMERE (14)
2068 (&) ®ERMEZ (38 - HX) 29H (K) . 308 (&) . 318 () EBFKiT (349)
- CDFEREEBIMAFRE—LR=D O HEERIGETCT, F—LARXR=—VDABFED TEBELC /2 LY,




